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1. (a) R PRI R TET «bt =17 I Wbl IRTS
foan - 1x8=8

Answer the following questions in one
word or in one sentence each :

(i) The Prince S%3499 4T (I ?
Who was the author of The Prince?
(i) cEEfm R o @m o ke
e
In which year was the Treaty of
Westphalia concluded?
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(i) ‘Mona Lisa’ ¥R @A 3
R T R
Name ‘the artist who painted
‘Mona Lisa’. ’

(iv) Trs &' AfSBrT (@ 2

: Who was the founder of ‘Society of
Jesus’ ?

(v) “SER B’ 9% RO @ e 2
‘I am the State.” Who made this
statement?

(i) “Afsata carn RRF—d% IR @@=
ST e 399 IRfRE 2
Which Russian ruler used the term
‘Window to the West’ ?

(vii) Txo IR A cofoar rele w2

~In which year was the Treaty of

Kuchuk Kainarji signed?

(I

Il

(viii) I @S RN Ao oA

@2

In which battle was Napoleon
defeated completely?

(b) Y GrRA forar (R e fofi) - 4x3=12

Write short notes on (any three) :
(i) DI S
Edict of Nantes
(i) =N g
Indulgence Paper
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2.

3.

(3)

(iii) T wARIS
Warm Water Policy
(iv) TETORM
- Humanism
(v) TN S
The Continental System
TR R PR S FAFPIR SO 411
: 6+6=12

Discuss the causes of the growth of
Renaissance and its results.

%31/ Or
Tt TR a4 o1 IRART FRFTZ SCAB
01 12

Discuss the religious and political causes of
the Thirty Years’ War.

e WIF @IS R SRR SIRER W
SofRaRT TP FRFRR et 411 12
Analyze the causes behind the geographical

discoveries and colonial expansion in the
15th and 16th centuries. -

ST/ Or
civeTy Rea <ogf s @3 s Resme
91 | Res woFa IR wIfRe 2 8+4=12

Make a critical analysis on the Glorious
Revolution. What were the consequences of
the Revolution?
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4. AWM B2 WR T BRI SCAGT FA1 4+8=12

What is Mercantilism? Discuss its main

features.

5%q1/ Or
TS AR FRFPTR A F41 | (96T YA
oI ' I B afs '3 4R 2 8+4=12

Discuss the reforms of Peter the Great. In
what sense, he may be called as the ‘Father
of modern Russia’?

5. =R CTRIER WP o AR TS B
CFTSRT ST FRFPTR, S 7 | 12

Discuss the internal reforms of Frederick II,
the Great of Prussia, as a benevolent despot.

, oRJAT/ Or
wfR PR RS e IEeRE Rew Wi
for | coda s R Rt tfee 2 8+4=12

Write briefly about the reforms of Joseph II of
Austria. Why were his reforms failed?

6. T RIRT IAPHR WF [WEAP® WHR A7
oo @b R oo 6+6=12 _ _

Make a note on the causes of the Industrial
Revolution and its impact on Europe.

9T/ Or
R e Rdw ez Kiemsn 391 @}
JEA AT C2fREAC 7 ' 8+4=12

Analyze the -different clauses of Vienna
Congress. Was it a successful one?
kK
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